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• 1Øכcfx#_ 11Øכc�V�XùïÏÁ�HÁ�Uã¡��XLm, 12Øכcfx#_ 16Øכc�V�XùïÏ�_

�òÓã¡�Ü®p�X�V.

• Á�UÉ�H�XùïÏÁ�HÝ¬tÐ�-÷ÖÓ�XQpÊ�EÚ¬t�Vu�,Á�HÁ�Uã¡��ïÏÁ�UÄ�HVuLm,�_

�òÓã¡��ïÏ�èÓ�XrzÝ¬trzÁ�U�êÓ×­t�X�V�XWs.

A.e�Ôeµ%K�V�(ḈÐ3�\�ÛÏ�,¥@ 18�\�)

A-1.  7�'� −→a = (1, 0,−1),
−→
b = (3, 4,−5)��s�ÀÒ��Hy��_�ß¼l�\�¦

θ���¦½+ÉM:, cos θ = s���.

A-2. lim
x→∞

(
√

x + 1 −
√

x ) = .

A-3. �<ÊÃº f (x) = x3 − ax2 + 4x + 7�� (−∞,∞)\�"f7£x���<ÊÃºs�

l�0Aô�Ç a°ú�#3�0_כA��H s���.

A-4.
∫ 1

0
xex2

dx = .

A-5. '��§>=

3 5

4 11

s�����?/��H{9�	����8̈� f \�@/
�#�, f (P) = P

\�¦ëß�7á¤
���H&h� P_���2[_�~½Ó&ñ
d���Ér s���.

A-6. ýa³ðî̈
���0A\�¦î�r1lx
���H&h� P(x, y)_�r�y�� t\�"f_�0Au���

x = 2t, y = 4t2 − t

��
����, t = 1{9�M:&h� P_�5Åq§4��Ér s���.

B.L±Ó¦�>%K�V�(ḈÐ7�\�ÛÏ�,¥@ 49�\�)

B-7. �½Ó�©��ª�_�°ú̀�כ¦°ú���Hp�ì�r��0pxô�Ç�<ÊÃº f �� �̧��Hz�́Ãº x, y

\�@/
�#� f (x + y) = 4 f (x) f (y) �̀¦ëß�7á¤
��¦ f ′(0) = 3s����,

f ′(2013)
f (2013)

=

s���.

B-8. &h� (0, 1)\�"f/BG��� y = ln x\�Õª�Ér]X����õ�s�/BG���x9� x»¡¤

Ü¼�ÐÑüt�Q����� �̧+þA_�V,�s���H s���.

B-9. '��§>= A =

1 4

2 3

\�@/
�#� An =

an bn

cn dn

s����,

∞∑
n=1

an + bn + cn + dn

10n =

s���.

B-10. z�́Ãº x ≥ 1\�@/
�#�,ÂÒ1pxd��

12 + 22 + · · · + n2 ≤ x < 12 + 22 + · · · + n2 + (n + 1)2

�̀¦ëß�7á¤
���H�����Ãº n �̀¦ f (x)��
����, lim
x→∞

f (x)
3√x
=

s���.

B-11. ýa³ðî̈
���\�"f ��6£§ B�>h���Ãº ~½Ó&ñ
d��Ü¼�Ð ÅÒ#Q��� /BG���õ�

x»¡¤x9� x =
π

2
�ÐÑüt�Q�����%ò
%i�_�V,�s���H s���.

x = t sin t, y = sin t, 0 ≤ t ≤
π

2
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F 12£U>ÉÙ'a 16£U>��m�ÐM�"��ä·ÌfC���f���. F

B-12. �<ÊÃº f (x) = x3 +
3
2

x2 + 3x\�@/
�#�

(a) f _�%i��<ÊÃº���>rF��<Ê�̀¦�Ðs�r��̧.

(b) ��6£§ÂÒ1pxd��s�$í
wn��<Ê�̀¦�Ðs�r��̧.∫ 2

0
f (x)dx +

∫ 10

0
f −1(x)dx < 40

B-13. '��§>= A =

 a −b

b a

 s� ����?/��H {9�	����8̈�\� _�K� f�����
y = 2x+

√
5��f����� y = −3x− 2

√
10Ü¼�Ðs�1lxô�Ç��. s�M:

aü< b\�¦ ½̈
�r��̧.

C.ÐÏ��ª%K�V�(ḈÐ11�\�ÛÏ�,¥@ 33�\�)

C-14. a1 = 1, a2 = 2, a3 = 3���7£x��Ãº\P� {an}\�@/
�#�,Dh�Ðî�r

Ãº\P� {bn} �̀¦��6£§õ�°ú s�&ñ
_�
���.

bn =
an+2 − an+1

an+1 − an
(n = 1, 2, 3, · · · )

Ãº\P� {an}õ� {bn}s�1pxd��
an

an+2
bn = bn+1 �̀¦ëß�7á¤
����, �̧��H

n\�@/
�#� an+1 = 4 −
2
an
e���̀¦�Ðs�r��̧.

C-15. z�́Ãº����̂\�"f&ñ
_��)a n���p�ì�r��0pxô�Ç�<ÊÃº f (x)\�@/
�

#�, n>��̧�<ÊÃº f (n)(x)�� ½̈çß� [0, 1]\�"f�½Ó�©��ª�Ãºs����,~½Ó

&ñ
d��

1 + x + · · · + xn−1 + f (x) = 0

�Ér ½̈çß� [0, 1] \�"f n >h s�
�_� "f�Ð ���Ér ��H�̀¦ ��f���̀¦ �Ð

s�r��̧.

C-16. ýa³ð/BNçß�\� ½̈��� S : x2 + y2 + z2 = 4ü<¿º î̈
���

α : x + y + z = 3, β : x + y + z = −
√

6

s� ÅÒ#Q4R e����. "é¶&h� O = (0, 0, 0) ü< ¿º 1lx&h� P ∈ S ∩ α,

Q ∈ S ∩ β\�@/
�#����y��+þA 4OPQ_�V,�s�_�þjÎ.	°úכõ�þj

5Åw°ú̀�כ¦ ½̈
�r��̧.
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